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To Do

- RPC
Test carbon RPC
Test discriminator : shaper & delay line unction
PCB production
Discriminator control code
New carbonless RPC

« DY analysis :
- Test 2*2 matrix

- ZDC 3" prototype

— Delay of SiPM order, deliver only next year Jan. =» test beam in 2026 April to Sep

— FoCal test beam still takes place next Feb = joint test LYSO + filter + APD + CIROC/H2GCROC
« ZDC MC simulation (Alan’s help)

- Try Sampling ZDC ECAL?

- Energy dump in ZDC HCAL?

«  MCFM + xFitter
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MCFM work (last week)

COMPASS data massL=4.3 massH=4.7 ptL=0.0 ptH=0.7 MCFM (maSS = [43, 45], |Ord)
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COMPASS data usq -4.3 massH=4.7 ptl=0.0 ptH=0.7

5
B e ™ §
(=]
o~ = S
| =] |
o
o I
Oﬁ
=
=1 |
e T
FDi—'
Ol
] =]
=

yyyy/mm/dd

0.09

0.08

0.07

0.06

0.05

0.04

0.03

0.02

0.01

title

MCFM (mass = [4.3, 4.5], lord)

do/df fb]

20000

15000

10000

5000

5000

IIITlllIIIIIIIIIIlII[I

T

caoa b e v e bev e bev e Pev o Lo P L a1y
-08 -06 -04 -02 0 0.2 0.4 0.6 0.8 1
xF

MCFM (mass = [4.3, 4.5], tota)
F

X

o

]
: 4
|

-08 08 04 02 a 0.2 0.4 0.6 0.8 1

4/N



Lord, change xf binning

MCFM (mass =[4.3, 4.5], lord, bin_xf =0.1)
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MCFM (mass =[4.3, 4.4], lord, bin_xf =0.1)

MCFM (mass =[4.3, 4.5], lord, bin_xf =0.2)
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MCFM (mass = [4.4, 4.5], lord, bin_xf =0.1)

Already divided by xf bin
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Lord, change mass binning

MCFM (mass = [4.3, 4.5], lord, bin_xf =0.1)
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=> Then not divided by pt bin either

MCFM (mass = [4.4, 4.5F], lord, bin xf=0.1)
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COM PASS d ata massL=4.3 massH=4.7 ptL=0.0 ptH=0.7
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—mass binning, and pt binnin

0.01 1 1 1 | 1 1 1 | 1 1 1 | 1 1 L |

0.0:

N

MCFM (mass = [4.3, 4.5], lord)

02 0 0.2 0.4 06

5000

do/dx, [fb]

20000

15000

10000

5000

—‘leIT]IITI'IIIII]IIIIIIII]I

| o

[fb]

do/dxF

0.025

0.02

0.015

0.01




Work Flow

4 MCFM ]\ | Xxsci#
LHAPDF 1+ 1 vaDc cal) | T h1 id1

My work
\ )
MCFM- . | Xsc#2 |
N [ bridge ] * [APPLG”C’ | h1_ref [

N

y —

(0 | ‘ Xsc#3 |
e SC

| Grid file +[ LHAPDF n1 grid

\—/

« MCFM versions : org, pionMod
« Dataset : NA1O, pp collision
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MCFM org
Compare w/ NA10O Data

1) MCFM_org can only calculate pp collision, but pion PDF can
be apply to grid file as long as the correct kinematic is set.

2) Steps

Calculate pp collision cross section w/ CT14nlo PDF in NA10O
kinematics

CT14nlo X CT14nlo : compare hl ref and hl _mcfm
CT14nlo X CT14nlo : compare hl_ref and hl_grid

xFitter X nCTEQ184 : compare hl _grid and hl1 _nal0
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My Grid (MCFM set @ LO)
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Verify hl nalO and hl grid (OK)
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Variy hl ref and hl_grid (OK)
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Varify hl i1d1 VS hl ref/hl_grid (OK)

Mcfm : hl id1
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mcfm output “DOES NOT”

normalize to sqrt(tau) bin width.
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MCFM_pion
Compare w/ NA10O Data

Calculate piW collision cross section in NA1O kinematics
xFitter X nCTEQ184 : compare hl nalO, hl grid, hl ref, h1 _mcfm(integrated)
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Verify hl nalO and hl grid (OK)
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Variy hl ref and hl_grid (OK)
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dhiceF [fh]

Varify hl i1d1 VS hl ref/hl_grid (OK)
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Summary

- Why MCFM output has a scale 20 difference
compare to data?

* Not. NA1O sqrt(s) = 18.8
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